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Short-answer questions/problems

Note:  Except possibly for questions in which you are required to provide a list, your answers to the following short-answer questions should be no more than a sentence or two.  If you write more, you will likely run out of time.

1.  Basing your discussion on the clientele theory of dividends, briefly explain what determines which type of investors buy which kinds of stock?
2.  One of the theoretical issues related to dividends that we discussed is Tax Arbitrage.  Briefly discuss how this issue impacts the relationship between a stock’s pretax return and its dividend yield.

3.  Despite the recent cut in personal taxes paid on dividends, dividends still increase an investor’s personal taxes.  Briefly discuss how these taxes give firms an incentive to repurchase shares of stock.
4.  List the 3 methods we talked about in class for repurchasing shares of common stock.
5.  Number 3 Seed Inc.’s stock price is currently $52 per share.  Number 3 plans to repurchase 100,000 of its 2,000,000 shares at a price of $85 per share.  If nothing else changes, what will be the impact of this repurchase on the price per share of Number 3’s stock?
Problems/Essays

1.  Assume HEB is currently planning to tear down an existing store and build a new one in the same location.  The cost of tearing down the old store and building a new one is $2,000,000 today.  HEB estimates that net cash flows at the new store will be $110,000 beginning 3 months from today and will continue monthly through 10 years from today (at which time this store will likely be torn down).  These monthly cash flows would be expected to grow by 0.15% per month.  The old store had been generating net cash flows of $100,000 per month (net cash flows were not expected to grow for the old store).  However, HEB estimates that net cash flows on the old store will fall to $90,000 per month if the new store were not built due to competition from a new Wal-Mart being built down the street.  (Note that if the new store is built, HEB will generate no sales at all over the next two months as it tears down and builds a new store).  HEB estimates that the beta of both the old and new stores is 0.4.  Assume the return on short-term T-bills is 0.8% and on long-term treasury bonds is 5.4%.  Assume also that the market risk premium is expected to be 7.2%.  What is the impact of building the new store on HEB’s value?
2.  Mall-based apparel retailer Aeropostale, Inc. has assets with a market value of $1.27 billion.  This coming year, Aeropostale is expected to invest $260 million in opening new stores.  These new stores are estimated to have a net present value of $40 million.  The expected life of Aeropostale’s existing stores is 3 years and of the new stores is 4 years.  The overall average expected life of Aeropostale’s stores will be 3 years and 2 months once the new stores are built.  Currently, Aeropostale has no debt but is expected to issue debt that matures for $300 million five years from today in order to fund these new stores.  Aeropostale will also use $3 million of internal cash to build the new stores.  The remaining funds will come from issuing additional shares of common stock.  The standard deviation of returns on Aeropostale’s existing stores is 45% and on the new stores is 53%.  Once the new stores are opened, the overall standard deviation for Aeropostale’s stores will rise to 46%.  The return on Treasury securities depends on maturity as follows:  1-year = 1.63%, 2-year = 2.39%, 3-year = 2.97%, 3-years, 2 months = 3.17%, 4-year = 3.44%, 5-year = 3.82%, 10-year = 5.01%.  What is the value of Aeorpostale stock after the firm builds the new stores (and raises funding for them)?  Discuss which of the changes make the firm’s stockholders better off and which make the firm’s stockholders worse off.  
Final Exam; F4360; Spring, 2004; May 7th; page 2 of 2
3.  Assume that game maker THQ stock has earned the following returns over the past 4 years (returns are from May to May of each year):  2004 = 29%, 2003 = -56%, 2002 = -1%, 2001 = 400%. Assume also that McDonalds (which needs no introduction) stock has earned the following returns over the past 4 years (returns are also from May to May of each year):  2004 = 51%, 2003 = -36%, 2002 = 0%, 2001 = -15%.   Based on these historical returns, what is your estimate of the correlation between THQ and McDonalds?  To what extent would you expect to achieve diversification if you were to combine these two stocks?

4.  On average, how do the securities markets react to announcements that a firm plans to increase its dividends?  Given the theoretical issues we have discussed related to dividends, explain the reasons for this reaction.
5.  Assume that this summer you go to work for the firm your family started a number of years ago.  Since you are a finance major, you are asked to assess the performance of the firm using the firm’s financial statements.  Based on your analysis, you decide that the firm is not being run efficiently.  What evidence from the financial statements might you use to convince the rest of your family that the firm is being run inefficiently?  Be as specific as possible.

6.  Continuing number 5 above, assume you are convinced that part of the reason your family’s firm is not being run efficiently is that all employees are compensated only through their weekly paycheck (in fact, everyone employed by the firm receives the exact same compensation).  How would you go about convincing your family that the current compensation system may play a role in the firms’ poor performance?  What changes would you recommend and why?  Again, be as specific as possible.
7.   Assume George Bush wants to accelerate and make permanent his recent cuts in personal tax rates.  Assume also that John Kerry wants to repeal these tax cuts but wants to cut corporate taxes in order to stimulate the economy.  (Note:  neither assumption is exactly correct, but assume they are for this question).  Explain how the optimal capital structure of the typical firm would differ if Bush is reelected vs. if Kerry becomes president.
